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CITPABKA 3A IIATHATA YNCJIEHOCT HA ITPOKYPATYPUTE B PENTIYBJINKA BbJITAPUSA

KbM 01.01.2013r.
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1 2 3 4 5 6 7 8 9 10 | 11 12
1 [I'1aBeH npokypop 129,0 1 1 128
2 |BKII 2175 98 3 95 119,5
BAIl 60,0 38 1 37 22
HCaC 220,0 94 1 3 90 126
5 |Amnes.cnen.np-pa 32 13 1 2 10 19
6 |Cneumajus.n-pa 68 34 1 1 20 1 11 34
7 |AIl - CODUS 56 22 1 4 17 34
8 |OIl - baaroeBrpan 775 34 1 2 14 1 16 435
9 |PII - bnaroeerpan 35 17 1 1 14 1 18
10 |PIT - Canpmanckn 14 7 1 1 5 7
11 |PII - [etpuu 27 10 1 1 8 17
12 |PII - Toue [lemuen 20 8 1 6 1 12
13 |PIT - Paznor 14 6 1 1 4 8
14 |OIl - Buaun 35,5 15 1 2 4 1 7 20,5
15 |PII - Buaun 28 12 1 1 8 2 16
16 |[PII - Kyna 7 3 1 2 4
17 |PII - Benorpagunk 5 2 1 1 3
18 [OII - Bpana 56 27 1 2 10 1 13 29
19 |PII - Bpaua 27 13 1 2 7 3 14
20 |PIT - bana Cnatuna 15 6 1 5 9
21 |PII - OpsixoBO 10 3 1 2 7
22 |PII - Koznoxyi 11 4 1 3 7
23 [PIT - Me3pmpa 15 7 1 1 5 8
24 |OIl - KocTenan 51 22 1 2 7 1 11 29
25 [PIT - Kroctenaun 31 15 1 2 11 1 16
26 |PIT - lynxuua 27 13 1 2 10 14
27 |OII - MoHTaHa 37 18 1 2 4 1 10 19
28 |PIT - MonTana 25 13 1 1 10 1 12
29 [PIT - BepkoBuia 8 4 1 3 4
30 |PII - Jlom 17 8 1 7 9
31 |OIl - llepuuk 41 16 1 2 6 1 6 25
32 |PII - TepHuk 29 13 1 1 9 2 16
33 |PII - Pagomup 14 6 1 1 4 8
34 |PII - bpe3nuk 9 3 1 2 6
35 |PIT - TpbH 8 3 1 2 5
36 |OII - Codust 85,5 37 1 2 15 1 18 48,5
37 |PII - CamokoB 13,5 6 1 5 75
38 |PII - UxTtuman 13,5 7 1 1 5 6,5
39 |PII - Enun IMenuu 10,5 6 1 4 1 45
40 |PII - BoreBrpang 14,5 7 1 1 3 2 75
41 |PIT - ETpomnonie 6,5 2 1 1 45
42 |PII - upaon 10,5 5 1 4 55
43 |PII - KoctuHOpon, 10,5 5 1 4 55
44 |PIT - CnuBHMIA 14 7 1 5 1 7
45 |PIT - Csore 9 4 1 3 5
46 |CTH 379 190 1 6 83 1 99 189
47 (CPII 381 206 1 7 174 24 175
48 |AIl - IIJIOBAUB 40 16 1 2 13 24
49 |OII - IaoBauB 138 78 1 3 24 1 49 60




I{aTHA YHCaEeHOCT
—~ =
N = Q = = =
Tpokypatypa = : E—" = 2 g S
Z a1t | E| % S| € 3
=% = 2 2 J g
o O | S| 3 & | S| E| %
= = & g 2 2 = g s | g =
2 =9 | &g |=s|g|=|E|5|¢c| &
S|P el || E|E|E|E| 3
sl 2| 2| 22|88 7
N < ||l =l &[S |[&] O
50 [PII - ITnoBaus 90 438 1 3 42 2 42
51 |PIT - AceHoBrparg, 13,5 5 1 1 3 8,5
52 |PII - Kapnoso 14,5 6 1 5 8,5
53 |PII - ITbpBOMait 7,5 3 1 2 4,5
54 |OII - IMazapaxuk 59 28 1 7 1 17 31
55 |PII - [Tazapmkuk 34 17 1 1 14 1 17
56 [PIT - Benunrpan 13 5 1 4 8
57 |PII - Tanartopuiue 8,5 3 1 2 55
58 [PIT - TTemmepa 9,5 3 1 2 6,5
59 |OII - Ctapa 3aropa 78 32 1 2 14 1 14 46
60 |PIT - Crapa 3aropa 43 23 1 1 20 1 20
61 [PII - KazaHabk 27 12 1 2 8 1 15
62 [PII - PagHeBo 10 4 1 3 6
63 [PII-I'bnb00BO 8 2 1 1 6
64 |PIT - Yupnan 11 4 1 3 7
65 |OII - XackoBo 67 27 1 2 7 1 16 40
66 |[PIT - XackoBo 18 9 1 1 6 1 9
67 |PII - Xapmaniu 11 4 1 3 7
68 [PIT - Ceunenrpag 15 7 1 5 1 8
69 |PII - JuMuTpoBrpan 14 6 1 5 8
70 [PIT - MpaiinoBrpan 6 3 1 2 3
71 |OIl - Kbpakaau 34 13 1 2 2 1 7 21
72 [PI1 - Kppmxanu 20 8 1 1 4 2 12
73 |PIT - Momuunrpan 11 5 1 4 6
74 |PIT - KpymoBrpan 8 3 1 2 5
75 [PIT - ApauHo 4,5 2 1 1 2,5
76 |OI - CmoasiH 27 9 1 2 2 1 3 18
77 |PIl- CmonsH 16 8 1 1 5 1 8
78 |PII - leBun 55 2 1 1 35
79 |PII - Magan 5 2 1 1 3
80 [PIT - 3narorpan 5 2 1 1 3
81 |PII - Yenemnape 5 2 1 1 3
82 |(AIl - B. TbPHOBO 24 8 1 1 6 16
83 |OIlI - B. ThpHoBO 59 24 1 2 9 1 11 35
84 |PII - B. TrpHOBO 29 13 1 1 9 2 16
85 |PIT -T'. OpsixoBuua 18 10 1 9 8
86 |[PII - Cuios 12 6 1 1 4 6
87 |[PII - [TanukeHu 10 5 1 4 5
88 [PII - Enena 10 4 1 3 6
89 |OIl - IlneBen 70 35 1 2 16 1 15 35
90 |PII - ITneBen 50 26 1 3 21 1 24
91 [PII - Kuexa 7 3 1 2 4
92 |[PIT - Hukomon 8 3 1 2 5
93 |PII - JIeBcku 10 3 1 2 7
94 |PII - YUepBeH Opsr 11 4 1 3 7
95 |OII - I'aGpoBo 38,5 15 1 2 3 1 8 23,5
96 |PII - "'abpoBo 18 9 1 1 6 1 9
97 |[PII - CeBnuero 10 5 1 1 1 2 5
98 |PII - IpsiHOBO 7,5 3 1 2 4,5
99 |PII - TpsieHa 55 2 1 1 3,5
100 |OII - Pyce 55 26 1 2 8 1 14 29
101 |PIT - Pyce 46 26 1 1 22 2 20
102 |PII - Bsna 9 4 1 3 5
103 |OIl - JloBeu 45,5 19 1 2 4 1 11 26,5
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104 [PII - Jloeu 22 12 1 2 7 2 10
105 [PIT - Tposin 12 6 1 1 4 6
106 [PIT - TereBeH 11 5 1 1 3 6
107 [PIT - JlykoBuT 8 3 1 2 5
108 [AIT - BAPHA 27 10 1 2 7 17
109 |OIl - Bapna 100 46 1 3 19 1 22 54
110 [PIT - Bapua 113 48 1 3 40 4 65
111 |PIT - JeBHs 9 4 1 3 5
112 |PII - ITpoBaaus 10,5 4 1 3 6,5
113 |OII - 1o6pu4 50 21 1 2 7 1 10 29
114 [PI1 - Jobpuu 25 13 1 1 9 2 12
115 |PIT - banuuk 7,5 3 1 2 4,5
116 [PIT - Tepeen 6 2 1 1 4
117 |PIT - I'en. Toweso 55 2 1 1 35
118 [PIT - KaBapHa 7 3 1 2 4
119 |OII - Hlymen 45 18 1 2 7 1 7 27
120 |PII - [llymen 30 14 1 1 10 2 16
121 [PII - B. [pecias 11,5 4 1 3 7,5
122 [PIT - HoBu mazap 13 5 1 4 8
123 |OII - Pa3zrpan 315 12 1 2 3 1 5 19,5
124 [PI1 - Pasrpan 22,5 8 1 1 5 1 14,5
125 [PIT - Ucnepux 10 5 1 1 3 5
126 [PII - Ky6par 9,5 4 1 1 2 5,5
127 |OIl - Teprouie 32 10 1 2 2 1 4 22
128 |PII - Tpproeuuie 16 8 1 1 5 1 8
129 [PIT - TToroBo 8,5 3 1 2 55
130 |PII - OmypTar 8,5 4 1 3 45
131 [OII - Cuauctpa 30 10 1 2 3 1 3 20
132 [PIT - Cunuctpa 23 9 1 1 6 1 14
133 [PIT - Tytpakan 8,5 3 1 2 55
134 [PIT - TynoBo 55 2 1 1 3,5
135 [AIl - BYPI'AC 30 10 1 2 7 20
136 |OIl - Byprac 93 47 1 3 18 1 24 46
137 [PII - Byprac 82 41 1 3 34 3 41
138 [PIT - Aiitoc 13 5 1 1 3 8
139 [PIT - KapHobar 11 5 1 4 6
140 |PII - M. TbpHOBO 4,5 2 1 1 2,5
141 |PIT - HeceGbp 13 6 1 5 7
142 [PII - [Tomopue 11 5 1 3 1 6
143 |PII - Cpenen 55 3 1 2 2,5
144 |PII - LlapeBo 7 4 1 3 3
145 |OI1 - CauBen 47 21 1 2 7 1 10 26
146 [PI1 - CiueH 32 16 1 1 13 1 16
147 [PIT - HoBa 3aropa 9 4 1 3 5
148 |PIT - Koren 7,5 3 1 2 4,5
149 |OI1 - sSIm60a 39 16 1 2 5 1 7 23
150 [PIT - SIm6on 30 16 1 1 12 2 14
151 |PIT - ExxoBo 14 5 1 4 9
152 |PII - TononoBrpan 8 3 1 2 5
153 |BoAlIl - CO®US 31 8 1 3 4 23
154 |BOII - Codusi 69 24 1 2 10 11 45
155 |BOII - [1aoBauB 43 15 1 1 4 9 28
156 |BOII - Bapua 33 10 1 1 2 6 23
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157 |BOII - CiimBen 44 15 1 1 4 9 29
158 (BOII - I1neBen 38 12 1 1 1 9 26
OBIIIO 3A TIPOKYPATYPUTE B
CTPAHATA 48915 | 2341 | 156 | 156 | 1341 | 77 29 | 538 | 44 | 2550,5
YueoHa 6a3a " lluros uyapk" ,
159 (Barak 435 435
160 (ITounBen nom " U3rpes” Bsuia 27 27
Yueben uentnp " Tpengadpuna”,
161 |[Buroma 18 18
OBIIIO 3A YY. 1 1IOY. BA3H 88,5 88,5
BCUYKO MPOKYPATYPI:| o755 | 23410 | 156 | 156 | 1341 77 | 29 | 538 | 44 | 30345




